

$$\frac{8}{3} - \frac{8}{10} =$$

$$\frac{7}{9} \times 3 =$$

$$3\frac{1}{4} \times 2\frac{2}{10} =$$

$$2\frac{2}{5} : 2\frac{3}{4} =$$

$$2\frac{1}{6} - 1\frac{8}{9} =$$

$$11\frac{9}{10} + 100\frac{2}{6} =$$

$$\frac{9}{10} + \frac{2}{10} =$$

$$\frac{2}{6} : \frac{5}{12} =$$



$$\frac{8}{3} - \frac{8}{10} = \frac{80}{30} - \frac{24}{30} = \frac{56}{30} = 1\frac{26}{30} = 1\frac{13}{15}$$

$$\frac{7}{9} \times 3 = \frac{21}{9} = 2\frac{3}{9} = 2\frac{1}{3}$$

$$3\frac{1}{4} \times 2\frac{2}{10} = \frac{13}{4} \times \frac{22}{10} = \frac{143}{20} = 7\frac{3}{20}$$

$$2\frac{2}{5} : 2\frac{3}{4} = \frac{12}{5} : \frac{11}{4} = \frac{12}{5} \times \frac{4}{11} = \frac{48}{55}$$

$$2\frac{1}{6} - 1\frac{8}{9} = 2\frac{3}{18} - 1\frac{16}{18} = 1\frac{21}{18} - 1\frac{16}{18} = \frac{5}{18}$$

$$11\frac{9}{10} + 100\frac{2}{6} = 11\frac{27}{30} + 100\frac{10}{30} = 111\frac{37}{30} = 112\frac{7}{30}$$

$$\frac{9}{10} + \frac{2}{10} = \frac{11}{10} = 1\frac{1}{10}$$

$$\frac{2}{6} : \frac{5}{12} = \frac{2}{6} \times \frac{12}{5} = \frac{4}{5}$$

